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


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




































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


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















 












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










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












































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

















 
















































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

Identify the interval: M3 or m3?

P5, P4, Octave, Unison?

intervals 

1

2

3

4

5

6

TW1

(1-10)







up P5

up M3

61





unsn

dn M3





dn M3

dn 8





up 8

unsn





up P5

dn M3

dn P4





up P4





dn m3

up 8





up P5

up 8





dn P4

up m3





dn P4

dn 8









dn m3

dn M3





up m3

dn 8





dn m3

dn m3





dn P5

up M3





dn P5

up m3





up P4

up m3





dn m3





up P4

dn m3





dn P4

up M3

up m3





up P4

dn M3









up 8

dn m3

81





unsn

up P4





dn 8

up m3





up m3

up P5





dn 8

up m3

unsn





up P5





up 8

up m3





dn P5

unsn





up P4

up M3

up 8





up M3









dn M3

up 8

dn M3

up m3





up M3





up P4





up P5

up 8





up M3

up m3





up P4

dn P4





dn P4

dn M3





up M3

up P5





dn M3

up m3





up M3

dn M3





intervals 

Pencil in the missing note.

7

8

9

10

TW1

(1-10)


